Faculty of Sciences and Mathematics University of Niš

Available at:

www.pmf.ni.ac.yu/org/filomat/welcome.htm

Filomat **20:1** (2006), 35–42

(σ, λ)- ASYMPTOTICALLY STATISTICAL EQUIVALENT SEQUENCES

RAHMET SAVAŞ AND METIN BAŞARIR

ABSTRACT. This paper presents the following definition which is a natural combination of the definition for asymptotically equivalent, λ - statistical convergence and σ - convergence. Two nonnegative sequences [x] and [y] are said to be $S_{\sigma,\lambda}$ - asymptotically equivalent of multiple Lprovided that for every $\epsilon > 0$

$$\lim_{n} \frac{1}{\lambda_{n}} \quad k \in I_{n} : \ \frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L \ge \epsilon \quad = 0$$

uniformly in m = 1, 2, 3, ... (denoted by $x \stackrel{S_{\sigma,\lambda}}{\sim} y$) and simply $S_{\sigma,\lambda}$ -asymptotically equivalent, if L = 1. Using this definition we shall prove $S_{\sigma,\lambda}$ - asymptotically equivalent analogues of Mursaleen's theorems in [8].

1. INTRODUCTION

Let l_{∞} , c and c_0 be the Banach spaces of bounded, convergent and null sequences $x = (x_k)$ with the usual norm $||x|| = \sup_n |x_n|$. A sequence $x = (x_k) \in l_{\infty}$ is said to be almost convergent of all of its Banach limits coincide. Let \hat{c} denote the space of all almost convergent sequences. Lorentz [4] proved that

$$\hat{c} = \{x \in l_{\infty} : \lim_{m} t_{mn}(x) \text{ exists uniformly in n}\}$$

¹⁹⁹¹ Mathematics Subject Classification. 40C05.

Key words and phrases. Asymptotically Equivalent, $\lambda\text{-}$ statistical convergence, $\sigma\text{-}$ convergence.

¹Received: April 20, 2005

where

$$t_{mn}(x) = \frac{x_n + x_{n+1} + \dots + x_{n+m}}{m+1}$$

The space $[\hat{c}]$ is of strongly almost convergent sequence was introduced by Maddox [5] as follows:

$$[\hat{c}] = \{ x \in l_{\infty} : \lim_{m} t_{mn} \left(|x - \ell e| \right) \text{ exists uniformly in } n \text{ for some } \ell \in C \},\$$

where e = (1, 1, ...).

Let σ be a one-to-one mapping of the set of positive integers into itself such that $\sigma^m(n) = (\sigma^{m-1}(n))$, $m = 1, 2, 3, \ldots$ A continuous linear functional φ on l_{∞} is said to be an invariant mean or a σ - mean if and only if

(1) $\varphi \ge 0$ when the sequence $x = (x_n)$ has $x_n \ge 0$ for all n.

(2) $\varphi(e) = 1$, where e = (1, 1, ...) and

(3) $\varphi(x_{\sigma(n)}) = \varphi(x)$ for all $x \in l_{\infty}$.

For a certain kinds of mapping σ every invariant mean φ extends the limit functional on space c, in the sense that $\varphi(x) = \lim x$ for all $x \in c$. Consequently, $c \subset V_{\sigma}$ where V_{σ} is the bounded sequences all of whose σ -means are equal.

If $x = (x_k)$, set $Tx = (Tx_k) = (x_{\sigma(k)})$ it can be shown that (see, Schaefer [13]) that

(1.1)

$$V_{\sigma} = \left\{ x \in l_{\infty} : \lim_{k} t_{km} \left(x \right) = Le \text{ uniformly in m for some } L = \sigma - \lim x \right\}$$

where

$$t_{km}(x) = \frac{x_m + Tx_m + \ldots + T^k x_m}{k+1}$$
 and $t_{-1,m} = 0$

We say that a bounded sequence $x = (x_k)$ is σ -convergent if and only if $x \in V_{\sigma}$ such that $\sigma^k(n) \neq n$ for all $n \geq 0, k \geq 1$.

Just as the concept of almost convergence lead naturally to the concept of strong almost convergence, σ - convergence leads naturally to the concept of strong σ -convergence. A sequence $x = (x_k)$ is said to be strongly σ -convergent (see, Mursaleen [7]) if there exists a number ℓ such that

(1.2)
$$\frac{1}{k} \sum_{i=1}^{k} |x_{\sigma^{i}(m)} - l| \to 0$$

as $k \to \infty$ uniformly in m. We write $[V_{\sigma}]$ as the set of all strong σ - convergent sequences. When (2) holds we write $[V_{\sigma}] - \lim x = \ell$. Taking $\sigma(m) = m + 1$, we obtain $[V_{\sigma}] = [\hat{c}]$ so strong σ - convergence generalizes the concept of strong almost convergence. Note that

$$[V_{\sigma}] \subset V_{\sigma} \subset l_{\infty}.$$

Let $\Lambda = (\lambda_n)$ be a nondecreasing sequence of positive reals tending to infinity

36

and $\lambda_1 = 1$ and $\lambda_{n+1} \leq \lambda_n + 1$. The generalized do to Vallée – Po

The generalized de la Vallée - Poussin mean is defined by

$$t_n(x) = \frac{1}{\lambda_n} \sum_{k \in I_n} x_k$$

where $I_n = [n - \lambda_n + 1, n]$ for n = 1, 2, ...

A sequence $x = (x_k)$ is said to be (V, λ) - summable to a number L (see [3]) if $t_n(x) \to L$ as $n \to \infty$.

We write

$$[V,\lambda] = \left\{ x : \lim_{n} \frac{1}{\lambda_n} \sum_{k \in I_n} |x_k - L| = 0, \text{ for some } \ell \in \mathbb{R} \right\}$$

for the set of sequences that are strongly summable by the de la Valéepoussin method. In the special case where $\lambda_n = n$, for $n = 1, 2, 3, \ldots$, the sets $[V, \lambda]$ reduces to the set [C, 1]- summability defined as follows:

$$[C,1] = \left\{ x : \lim_{n \to \infty} \frac{1}{n} \sum_{k=1}^{n} |x_k - L| = 0, \text{ for some } \ell \in \mathbb{R} \right\}.$$

In 1993 Marouf presented definitions for asymptotically equivalent sequences and asymptotic regular matrices. In 2003 Patterson extend these concepts by presenting an asymptotically statistical equivalent analog of these definitions and natural regularity conditions for nonnegative summability matrices. Savas [11] presented the definition which is a natural combination of the definitions for asymptotically equivalent and λ - statistical convergence. In this paper we define and study $S_{\sigma,\lambda}$ - asymptotically equivalent of multiple L. In addition to these definition, natural inclusion theorems shall also be presented.

2. Definitions and Notations

Definition 2.1 (Marouf, [6]). Two nonnegative sequences [x], and [y] are said to be asymptotically equivalent if

$$\lim_k \frac{x_k}{y_k} = 1$$

(denoted by $x \sim y$).

Definition 2.2 (Fridy, [2]). The sequence [x] has statistic limit L, denoted by $st - \lim s = L$ provided that for every $\epsilon > 0$,

$$\lim_{n} \frac{1}{n} \{ the number of k \le n : |x_k - L| \ge \epsilon \} = 0.$$

Quite recently, following this definition Mursaleen [8] introduced the concept of λ -statistical convergence as follows:

Definition 2.3. A sequence $x = (x_n)$ is said to be λ -statistically convergent or S_{λ} -convergent to L if for every $\epsilon > 0$,

$$\lim_{n} \frac{1}{\lambda_n} |\{k \in I_n : |x_k - L| \ge \epsilon\}| = 0.$$

In this case we write $S_{\lambda} - limitx = L$ or $x_k \longrightarrow L(S_{\lambda})$, and

1

$$S_{\lambda} = \{ x : \exists L \in \mathbb{R}, S_{\lambda} - limitx = L \}$$

The next definition is natural combination of definition (2.1) and (2.2).

Definition 2.4 (Patterson, [9]). Two nonnegative sequence [x] and [y] are said to be asymptotically statistical equivalent of multiple L provided that for every $\epsilon > 0$,

$$\lim_{n} \frac{1}{n} \{ the number of k < n : |\frac{x_k}{y_k} - L| \ge \epsilon \} = 0,$$

(denoted by $x \stackrel{S_L}{\sim} y$), and simply asymptotically statistical equivalent, if L = 1.

It is quite natural to expect that the concept of λ -statistical convergence can be generalize by using σ - means.

Definition 2.5. A sequence $x = (x_n)$ is said to be $S_{\sigma,\lambda}$ - convergent to L if for every $\epsilon > 0$,

$$\lim_{n} \frac{1}{\lambda_n} \left| \left\{ k \in I_n : |x_{\sigma^k(m)} - L| \ge \epsilon \right\} \right| = 0,$$

uniformly in m = 1, 2, 3, ... In this case we write $S_{\sigma,\lambda} - limitx = L$ or $x_k \longrightarrow L(S_{\sigma,\lambda})$, and

 $S_{\sigma,\lambda} = \{ x : \exists L \in \mathbb{R}, S_{\sigma,\lambda} - limitx = L \}$

We shall now introduce three new notions S_{σ} - asymptotically equivalent of multiple L, $S_{\sigma,\lambda}$ - asymptotically equivalent of multiple L, and strong σ asymptotically equivalent of multiple L. We also prove S_{σ} - asymptotically equivalent analogues of Mursaleen's theorems in [8].

Definition 2.6. Two nonnegative sequences [x] and [y] are S_{σ} - asymptotically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n} \frac{1}{n} \left\{ \text{ the number of } k \leq n : \left| \frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L \right| \geq \epsilon \right\} = 0,$$

uniformly in m=1, 2, 3, ..., (denoted by $x \stackrel{S_{\sigma}}{\sim} y$), and simply σ - asymptotically statistical equivalent, if L = 1.

Definition 2.7. Two nonnegative sequences [x] and [y] are $S_{\sigma,\lambda}$ - asymptotically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n} \frac{1}{\lambda_{n}} \left| \left\{ k \in I_{n} : \left| \frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L \right| \geq \epsilon \right\} \right| = 0,$$

38

uniformly in $m=1, 2, 3, ..., (denoted by x \overset{S_{\sigma,\lambda}}{\sim} y)$, and simply $S_{\sigma,\lambda}$ - asymptotically equivalent, if L = 1.

Definition 2.8. Two nonnegative sequences [x] and [y] are strong (σ, λ) -asymptotically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n} \frac{1}{\lambda_n} \sum_{k \in I_n} \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| = 0,$$

uniformly in $m=1, 2, 3, ..., (denoted by x \overset{[V_{\sigma,\lambda}]}{\sim} y)$, and simply strong (σ, λ) -asymptotically equivalent, if L = 1.

If we take $\sigma(n) = n + 1$ the above definitions reduce the following definitions:

Definition 2.9. Two nonnegative sequences [x] and [y] are \hat{S} - asymptotically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n} \frac{1}{n} \left\{ \text{ the number of } k \leq n : \left| \frac{x_{k+m}}{y_{k+m}} - L \right| \geq \epsilon \right\} = 0,$$

uniformly in m=1, 2, 3, ..., (denoted by $x \stackrel{\hat{S}}{\sim} y$), and simply almost asymptotically statistical equivalent, if L = 1.

Definition 2.10. Two nonnegative sequences [x] and [y] are \hat{S}_{λ} - asymptotically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n} \frac{1}{\lambda_n} \left| \left\{ k \in I_n : \left| \frac{x_{k+m}}{y_{k+m}} - L \right| \ge \epsilon \right\} \right| = 0,$$

uniformly in m=1, 2, 3, ..., (denoted by $x \stackrel{\hat{S}_{\lambda}}{\sim} y$), and simply almost λ -asymptotically equivalent, if L = 1.

Definition 2.11. Two nonegative sequences [x] and [y] are strong almost λ -asymptotically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n} \frac{1}{\lambda_n} \sum_{k \in I_n} \left| \frac{x_{k+m}}{y_{k+m}} - L \right| = 0,$$

uniformly in m=1, 2, 3, ..., (denoted by $x \stackrel{[V_{\lambda}]}{\sim} y$), and simply strong almost λ - asymptotically equivalent, if L = 1.

Let Λ denote the set of all non-decreasing sequences $\Lambda = (\lambda_n)$ of positive numbers tending to infinity and $\lambda_1 = 1$ and $\lambda_{n+1} \leq \lambda_n + 1$. The following theorem analogues of ([8]; theorem 2.1.)

3. Main Result

Theorem 3.1. Let $\lambda \in \Lambda$, then

(1) If $x \stackrel{[V_{\sigma,\lambda}]}{\sim} y$ then $x \stackrel{S_{\sigma,\lambda}}{\sim} y$, (2) If $x \in l_{\infty}$ and $x \stackrel{S_{\sigma,\lambda}}{\sim} y$ then $x \stackrel{[V_{\sigma,\lambda}]}{\sim} y$ and hence $x \stackrel{(C,1)}{\sim} y$, and (3) $S_{\sigma,\lambda} \cap l_{\infty} = [V_{\sigma,\lambda}] \cap l_{\infty}$.

Proof. Part (1): If $\epsilon > 0$ and $x \stackrel{[V_{\sigma,\lambda}]}{\sim} y$, then

$$\begin{split} \sum_{k \in I_n} \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| &\geq \sum_{k \in I_n \& \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \ge \epsilon} \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \\ &\geq \epsilon \left| \left\{ k \in I_n : \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \ge \epsilon \right\} \right|. \end{split}$$

Therefore $x \stackrel{[V_{\sigma,\lambda}]}{\sim} y$. Part (2): Suppose [x] and [y] are in l_{∞} and $x \stackrel{S_{\sigma,\lambda}}{\sim} y$. Then we can assume that

$$\left|\frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L\right| \le M \text{ for all } k \text{ and } m.$$

Given $\epsilon > 0$

$$\begin{aligned} \frac{1}{\lambda_n} \sum_{k \in I_n} \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| &= \frac{1}{\lambda_n} \sum_{k \in I_n \& \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \ge \epsilon} \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \\ &+ \frac{1}{\lambda_n} \sum_{k \in I_n \& \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L < \epsilon} \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \\ &\leq \frac{M}{\lambda_n} \left| \left\{ k \in I_n : \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \ge \epsilon \right\} \right| + \epsilon \end{aligned}$$

Therefore $x \overset{[V_{\sigma,\lambda}]}{\sim} y$. Further, we have

$$\begin{aligned} \frac{1}{n}\sum_{k=1}^{n} \left(\frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L\right) &= \frac{1}{n}\sum_{k=1}^{n-\lambda_{n}} \left(\frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L\right) + \frac{1}{n}\sum_{k\in I_{n}} \left(\frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L\right) \\ &\leq \frac{1}{\lambda_{n}}\sum_{k=1}^{n-\lambda_{n}} \left|\frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L\right| + \frac{1}{\lambda_{n}}\sum_{k\in I_{n}} \left(\frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L\right) \\ &\leq \frac{2}{\lambda_{n}}\sum_{k\in I_{n}} \left(\frac{x_{\sigma^{k}(m)}}{y_{\sigma^{k}(m)}} - L\right). \end{aligned}$$

Hence $x \stackrel{(C,1)}{\sim} y$, since $x \stackrel{[V_{\sigma,\lambda}]}{\sim} y$. Part (3): This immediately follows from (1) and (2).

In the next theorem we prove the following relation.

5

Theorem 3.2.

$$x \stackrel{S_{\sigma}}{\sim} y \text{ implies } x \stackrel{S_{\sigma,\lambda}}{\sim} y$$

if

$$(3.1) \qquad \qquad liminf\frac{1}{\lambda_n} > 0$$

Proof. For given $\varepsilon > 0$ we have

$$\frac{1}{n}\left\{k \le n : \left|\frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L\right| \ge \epsilon\right\} \quad \supset \quad \left\{k \in I_n : \left|\frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L\right| \ge \epsilon\right\}.$$

Therefore

$$\begin{aligned} \frac{1}{n} \left| \left\{ k \le n : \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \ge \epsilon \right\} \right| &\ge \left| \frac{1}{n} \left| \left\{ k \in I_n : \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \ge \epsilon \right\} \right| \\ &\ge \left| \frac{\lambda_n}{n} \frac{1}{\lambda_n} \left| \left\{ k \in I_n : \left| \frac{x_{\sigma^k(m)}}{y_{\sigma^k(m)}} - L \right| \ge \epsilon \right\} \right| \end{aligned}$$

Taking the limit as $n \longrightarrow \infty$ and using (3.1), we get desired result. This completes the proof.

Remark 1. In case $\sigma(n) = n + 1$, the above results reduce to the results for almost convergence.

References

- [1] J. A. Fridy, Minimal rates of summability, Can. J. Math., 30(4) (1978), 808-816.
- [2] J. A. Fridy, On statistical sonvergence, Analysis, 5 (1985), 301-313.
- [3] L. Leindler, Über de la Valle Pounsische Summierbarkeit allgemeiner Orthogonalreihen, Acta Math. Acad. Sci. Hung., 16(1965), 375-378.
- [4] G. G. Lorentz, A contribution to the theory of divergent sequences, Acta Math., 80(1948), 167-190.
- [5] I.J. Maddox, Spaces of strongly summable sequences, Quart. J. Math., 18(1967), 345-355.
- [6] M. Marouf, Asymptotic equivalence and summability, Int. J. Math. Math. Sci., 16(4) (1993), 755-762.
- [7] Mursaleen, Matrix transformation between some new sequence spaces, Houston J. Math. 9(1993), 505–509.
- [8] Mursaleen, λ -statistical convergence, Math. Slovaca 50(1) (2000), 11-115.
- R. F. Patterson, On asymptotically statistically equivalent sequences, Demonstratio Math., 36(1) (2003), 149-153.
- [10] R. F. Patterson and E. Savaş, On asymptotically lacunary statistically equivalent sequences (in press).
- [11] E. Savas, On Asymptotically λ -statistical Equivalent Sequences (in Ppress).

 \square

- [12] E. Savas, Strongly Almost Convergence and Almost λ -statistical Convergence, Hokkaido Journal Math. **29**(2000), 63-68.
- [13] P. Schaefer, Infinite matrices and invariant means, Proc. Amer. Math. Soc. 36(1972), 104–110.

Department of Mathematics, Sakarya University, Sakarya / TURKEY $E\text{-}mail\ address: \texttt{basarir@sakarya.edu.tr}$

42